o £ 9 2%

TSR

AC: #R/MEimELSE bR 08: M8  iFW#MEE 1. B (BhE) =Z=8: BEHKERE
AD: ATl 2 i [ 28 10: M10 2: HiE (hfa#) N JC B H IR
12: M12 3: K& (Efa#)
16: M16
20: M20
HLRE
- BXAHEREK) —REEHFEEmMS)
IIIIIIIIIIIIIIIIII BER PER RER FER PEE RER
AC0404 4 1.2 4300 0.3 1.2 2.5 2 1 0.5 ~10~+85
AC0604 4 1.8 6480 0.4 1.8 4 2 1 0.5 ~10~+85
AC0805 5 2 6800 0.5 2 6 2 1 0.5 ~10~+85
ACO0806 6 2.5 7200 0.6 2.5 6.5 2 1 0.5 —10~+85
AC1005 5 3 10800 1 3 7 3 1.5 0.8 ~10~+85
AC1008 8 4 14400 2 4 9 3 1.5 0.8 ~10~+85
AC1210 10 5 18000 5 10 30 3 1.5 0.8 ~10~+85
AC1412 12 15 36000 8 50 100 3 1.5 0.8 ~10~+85
AC1416 16 20 40000 10 70 150 3 1.5 0.8 ~10~+85
AC1425 25 25 48000 12 80 160 3 1.5 0.8 ~10~+85
AC2020 20 40 48000 30 200 700 3.5 2 1 —10~+85
AC2030 30 50 54000 30 200 700 3.5 2 1 ~10~+85
AC2050 50 60 66000 60 400 1200 3.5 2 1 ~10~+85
AC2525 25 80 60000 200 600 1000 4 2.5 1 ~10~+85
AC2540 40 120 84000 300 800 1200 4 2.5 1 ~10~+85
AC3660 60 250 125000 400 1500 2400 4 2.5 1 ~10~+85
AC2550 50 98 98000 15 40 150 4 2.5 1 -10~+85
AC2580 80 150 127500 20 50 200 4 2.5 1 —10~+85
SMERSTE
AC0404/AC0604/AC0805/AC0806/AC1005AC1008/AC1210

H Thread | H Thread |

(BiELXk)

with cap

( ZEEk) -

without cap

E . ‘Stroke‘ B

i A — [

3
)
]
o
JC
#




AC1412/AC1416/AC1425/AC2020/AC2030/AC2050

H Thread -
D \ 7l - |
C without cap with cap
| Stroke | B s
A-E

e -

AC2525
H ] Thread o H Thread
D ‘ ; - |
: ] ; : ]
_Stroke B ) _E | Stroke | B

B J : .

( Zef@dsk ) withoutcap (BEEL) withcap
AC2540/AC3660 AC2550/AC2580

AC0404 M4 x 0.5 32.6 24.6 19.6 4
AC0604 M6 x 0.75 33.7 25.7 20.6 1.8 4 4.5 - a 3.3
ACO0805 M8 x 0.75 37.9 26.9 21.4 1.8 6 4.6 - 11 4
ACO0806 M8 x 1.0 50 38 33 2.9 6 6.6 - 11 4
AC1005 M10 x 1.0 38.7 27.7 22.9 3 6 8.6 - 12.7 4
AC1008 M10 x 1.0 57 43 36.5 3 6 8.6 - 12.7 4
AC1210 M12x 1.0 69.2 50 45.5 3 9.2 10.3 - 14 4
AC1412 M14x1.5 104.2 76.2 70.2 4 12 12 - 19 5
AC1416 M14x1.5 123 95 89 4 12 12 - 19 5
AC1425 M14x 1.5 147 110 104 4 12 12 - 19 5
AC2020 M20 x 1.5 145.8 110 104 6 15.8 18 - 26 8
AC2030 M20 x 1.5 155.8 110 104 6 15.8 18 - 26 8
AC2050 M20 x 1.5 232.8 167 161 6 15.8 18 - 26 8
AC2525 M25 x 1.5 154.5 111 106 8 18.5 22 - 32 10
AC2540 M25 x 1.5 214 137 117 8 37 22 10 32 10
AC2550 M25 x 1.5 239 170.5 100 8 18.5 22 - 32 10
AC2580 M25 x 1.5 335.5 237 100 8 18.5 22 - 32 10
AC3660 M36 x 1.5 247 162 134 10 25 35 17 46 15

q.
5
i
&
.
e




B

CSMERSTE
AD1410/AD2016/AD2025
H Thread
: D
(eEs) - @ (BfEEL)
without cap with cap
l E Stroke

AD2525/AD2530

H Thread I- -

w
c =
HSImke_ B n | E __‘SHCIHE_ B
A-E | A
( Fc3ERL ) withoutcap ( BEFHL ) withcap
AD2540 AD3625/3650

| H Thread | ..

H Thread

180 c
Stroke | B | G C

A | E__ Stroke | B

@l

20 3.2

AD1410 10 24000 80 -10~+85
AD2016 16 25 32000 200 3.6 -10~+85
AD2025 25 39 39000 312 3.6 -10~+85
AD2525 25 85 51000 400 3.6 -10~+85
AD2530 30 95 57000 480 3.6 -10~+85
AD2540 40 100 84000 700 3.6 -10~+85
AD3625 25 150 90000 1200 3.2 -10~+85
AD3650 50 300 108000 1400 3.2 -10~+85
AD4225 25 260 130000 3000 3.6 -10~+85
AD4250 50 500 155000 4000 4.8 -10~+85
AD4275 70 750 187000 6000 4.8 -10~+85
AD64050 50 1200 156000 12727 3.5 -10~+85
AD64100 100 2400 192000 18181 3.5 -10~+85
AD64150 150 3600 252000 23636 3.5 -10~+85

3
)
]
o
JC
#




 SMERHE

QN

E_ L Slroka

AD1410
AD2016
AD2025
AD2525
AD2530
AD2540
AD3625
AD3650
AD4225
AD4250
AD4275

AD64050
AD64100
AD64150

M14 x 1,

M20 x 1.
M20 x 1.
M25 x 1.
M25 x 1,
M25 x 1.
M36 x 1.
M36 x 1.
M42 x 1.
M42 x 1.
.5

UNF21/2-12
UNF21/2-12
UNF21/2-12

M42 x 1

Thread

S I R I RS S S I

105.2
148.8
157.8
162
167
221.5
183
246
186
245.5
301
247
347
467

83.2
117
117

118.5
118.5
144.5
133
171
127.5
157
187.5
146
196
256

70.2
101
101
101
101
117
103
134
88
117.5
148
26
26
26

AD64050/AD64100/AD64150

Thread | @76 Thread

E A1 Stroke _:__ B

4
6 15.8 18 - 26 8

6 15.8 18 - 26 8

8 18.5 22 - 32 10
8 18.5 22 - 32 10
8 37 22 10 32 10
10 25 35.5 10 46 15
10 25 35.5 17 46 15
12 33.5 44.5 28.5 50 15
12 38.5 44.5 28.5 50 15
12 38.5 44.5 28.5 50 15
20 51 59 23 76.2 9.4
20 51 59 23 76.2 9.4
20 61 59 23 76.2 9.4

9
=
#
5
B
JC
"



EMC hEEhE-ERY

O R R RS

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

SCL1410 M14x1.5 M14x1.5

SCL1415 15 39 23 10 B M14x1.5 M14x1.5 19 17 : =

SCL2016 16 48 305 12 12 M20x1.5 M20x1.5 25 22 i ﬂ" | ﬂ i

SCL2020 20 51 335 12 12 M20x15 M20x1.5 25 22 |4 | ﬁ |

SCL2525 25 62 40 14 16 M25x1.5 M25x1.5 35 31 o B | t

SCL2725 25 62 40 14 16 M27x1.5 M27x1.5 35 31 C LT et
SCL3325 25 69 47 15 20 M33x1.5 M33x1.5 45 40

SCL3625 25 69 47 15 20 M36x1.5 M36x1.5 45 40

O RS e

M8X1.0 M20X1.5
o f \ - AC2020 AD2016
SCo8 09\ 1 AC0806 SC20 og :j AC2030 AD2020
| 9 ) ]
|_HJ ™ v | o8 AC2050 AD2025
M10X1.0 M25X1.5
o R sc — — AC2525 AD2525
10 OS;‘-‘ g AGT005 25 o; 'j AC2550 AD2530
e AC1008 it - AC2580
| 12.7] L L 32 | 45 |
M12X1.0 M25X1.5
SCc12 o SC40
o:e i—fj AC1210 O% 3 AC2540 AD2540
LM _ _' 20 _ 32__ H-L-I
SC14 MR 5 i AC1412 AD1410 SC50 M36X1.5
© AC1416 AD1425 R AC3660 AD3625
& AC1420 | AD3650
o 21| AC1425 % | | 80
) BIR]
21:% 45 2_.1%'?_ 55
n ! AD64050
F36 L e AC3660 F64 o ol @ AD64100
& I AD64150
1
M36X1.5/ /4-28. ;
4085 2 1/2x12 UNE/ /4-210.5
AD4225
E4D AD4250
AD4275
M42X1.5 /4-28.5

3
)
]
o
JC
#




